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2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NS 10750020 3178 9692 479 83 1 103 01 7 588 4313 1 1 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE WB PACHECO 3164 9279 222 83 2 11.7 02 2 603 505 39 1 3 11 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NSTRICAL105 3097 8994 483 83 3 113 01 5 607 531 41 1 1 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NS TRICAL115T 3170 8660 808 83 4 104 01 6 595 396 34 1 1 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NS TRICAL 158EP 3169 8441 456 83 5 102 01 8 601 391 34 1 1 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE PRLO11TS429 3177 7802 623 83 6 116 02 4 578 471 46 5 7 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NS CAMELOT 3168 7725 315 83 7 117 O 3 583 468 37 1 1 - 1 1 - - - - -
2016 FRESNO2 36.4082549 -120.0751805 TRITICALE TRITICALE NS 10T70126 3179 6086 2154 83 8 128 0.2 1 533 - 43 5 7 - 1 1 - - - - -




